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#81 All Factoring

So : :
Ive each €quation by factoring on your own paper. (Remember, it must equal 0 before you can solve it)

é(ﬂ ':D rm)

1) ' *+8n=

n=1gn H5=0 YJ
b+ @13)-0 |

5 2 12
e

1

6n' = 18n—-18=6

-15

=0 ﬂ'B:O

13) A B G =G 51c
1P~ k=

&( b-@f

19) 7x> +._x
X('7x+9

8) n- +3n—1§ }71‘6 O n‘
05 b ol 73]

10) 7r% - 14r=-7 v
7&‘9——[‘#{7:0 F‘("’A’
76"}. #0790, \2
7(#%6" > &)
12) 5r —44r+120==-30+ 11r
% 45-4/§0°0

5()'9 -r 'f‘30>=0 r=b
5(r-9) (r-)=0
14) b* +5b—35=3b H-$=0
LR 42p -3520 *?"7’0 5
bidbo=0 P~
16) 657 = 13b+3=-3 EN
T i
)w* :35%- 5 36
(- b)‘inp-
Bl
b-3 (3b- e
Bo 19 S i B R
-1 <o - ,
K= Bk ISh -7k 1359 % s
Zk (7% - -2( %-3)>° !
/c9~
=2 20) 10b* =27h 18 156
[6b2-27b H§=0 2 15

[BE>-/s6 ~ab tHI& =0
Sb(Ab-D-6(B6=3) =0
(Bb-&sD70
Ah—o =0 2b-3 =6
T

Scanned with CamScanner



